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iz'u iqfLrdk Øekad / Question Booklet Serial No.: 

INTERMEDIATE EXAMINATION – 2025 
bUVjehfM;V ijh{kk & 2025 

  ¼ANNUAL@okf"kZd ½ 
fo"k; dksM      MODEL QUESTION 
Subject Code:        Home Science (Elective)  

x`g foKku ¼,sfPNd½ 
I.A. (Theory / lS)kfUrd) 

dqy iz'u % 70 $ 20 $ 6 ¾ 96  dqy eqfnzr i`"B %21 

Total Question: 70 + 20 + 6  = 96 Total Printed Pages : 21 

¼le; % 2 ?kaVs 45 feuV½ ¼iw.kkZd % 70½ 

[Time : 2 Hours 45 Minutes] [Full Marks : 70] 

 

ijh{kkfFkZ;ksa ds fy, funsZ'k @ Instructions for the candidates : 

 

1- ijh{kkFkhZ OMR mŸkj&i=d ij viuk iz'u iqfLrdk Øekad ¼10 vadksa dk½ vo'; 

fy[ksaA 

Candidates must enter his/her Question Booklet serial No. (10 Digits) in the OMR 

Answer sheet. 

 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mŸkj nsaA 

Candidates are required to give answers in their own words as far as practicable. 

 

3- nkfguh vksj gkf'k, ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right-hand margin indicate full marks. 

 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

15 Minutes of extra time have been allotted for the candidates to read the questions 

carefully. 
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5- ;g iz'u iqfLrdk nks [k.Mksa esa gS& [k.M&v ,oa [k.M&c 

This question booklet is divided into two sections – Section-A and Section-B 

 

6- [k.M&v esa 70 oLrqfu"B iz'u gSa] ftuesa ls fdUgha 35 iz'uksa dk mÙkj nsuk 

vfuok;Z gSA 35 iz'uksa ls vf/kd dk mÙkj nsus ij izFke 35 dk gh ewY;kadu 

gksxkA izR;sd iz'u ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k 

djk;s x;s OMR mÙkj&i=d esa fn, x, lgh fodYi dks uhys@dkys ckWy isu 

ls izxk<+ djsaA fdlh Hkh izdkj ds ºokbVuj@rjy inkFkZ@CysM@uk[kwu vkfn 

dk OMR mÙkj&i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; 

gksxkA 

In Section-A, there are 70 objective type questions, out of which any 35 questions are 

to be answered. If more than 35 questions are answered, then only first 35 will be 

evaluated. Each question carries 1 mark. Darken the circle with blue/black ball pen 

against the correct option on OMR answer sheet provided to you. Do not use 

Whitener/Liquid/Blade/Nail etc. on OMR Answer Sheet, otherwise the result will be 

invalid.  

 

7- [k.M&c esa dqy 20 y?kq mÙkjh; iz'u gSa] izR;sd iz'u ds fy, 2 vad fu/kkZfjr 

gSa] ftuesa ls fdUgha 10 iz'uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl 

[k.M esa 6 nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd ds fy, 5 vad fu/kkZfjr gS] 

ftuesa ls fdUgha 3 iz'uksa dk mÙkj nsuk vfuok;Z gSA A 

In section-B, there are 20 short answer type questions, each carrying 2 marks, out of 

which any 10 questions are to be answered. Apart from these, there are 6 Long 

Answer Type questions, each carrying 5 marks, out of which any 3 questions are to 

be answered.  

 

8- fdlh izdkj ds bysDVªkWfud&midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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[k.M&v ¼oLrqfu"B iz'u½ 

Section-A (Objective Type Questions) 

iz'u la[;k 1 ls 70 rd ds izR;sd iz'u ds fy, pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x, lgh fodYi dks OMR&'khV ij fpfàr djsaA vkidks 35 

iz'uksa ds mÙkj nsus gSaA ;fn ijh{kkFkhZ 35 ls vf/kd iz'uksa ds mŸkj nsrk gS] rks izFke 35 mŸkjksa 

dh gh tk¡p gksxhA (35x1=35) 

Question Nos. 1 to 70 have four options, out of which only one is correct. You have to 

mark your selected options on the OMR-Sheet. Only 35 questions are to be answered. If the 

candidate answers more than 35 questions the first 35 answers will be evaluated. (35x1=35) 

1- ekuo 'kjhj esa lcls cM+h var% L=koh xzafFk dkSu lh gS \ 

 (A) vf/ko`Dd (B) FkkbjkWbM 

 (C) vaMk'k; (D) vXU;k'k; 

 Which is the largest endocrine gland in the human body?  

 (A) Adrenal (B) Thyroid 

 (C) Ovary (D) Pancreas 
 

2- fuEu esa ls dkSu gkeksZu dk dk;Z gS \ 

 (A) òf) (B) iztuu 

 (C) ejEer (D) buesa ls lHkh 

 Which of the following is a function of hormone? 

 (A) Growth (B) Reproduction 

 (C) Repair (D) All of these 
 

3- efgykvksa esa fdrus vaMk'k; gksrs gSa \ 

 (A) ,d (B) nks 

 (C) rhu (D) pkj 

 How many ovaries are there in females? 

 (A) One (B) Two 

 (C) Three (D) Four 
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4- ekuo 'kjhj esa Fkk;jkW;M xzafFk dgk¡ fLFkr gksrh gS \ 

 (A) efLr"d esa (B) mnj esa 

 (C) xnZu esa (D) ;d`r 

 Where is the thyroid gland located in human body? 

 (A) Brain (B) Abdomen 

 (C) Neck (D) Liver 
 

5- fuEu esa ls dkSu lk gkeksZu ih;w"k xzafFk ls lzkfor gksrk gS \ 

 (A) Fkk;jkWfDlu (B) o`f) gkeksZu 

 (C) ,LVªkstu (D) Xykbdkstu 

 Which hormone is secreted by the pituitary gland? 

 (A) Thyroxin (B) Growth hormone 

 (C) Estrogen (D) Glycogen 
 

6- fuEu esa ls dkSu lh xzafFk jDr esa dSfY'k;e ds Lrj dks de dj nsrh gS \ 

 (A) ,fMªuy xzafFk (B) Fkk;jkW;M xzafFk 

 (C) iSjkFkkbjkWbM xzafFk (D) vXU;k'k; 

 Which of the following glands reduces the level of calcium in the blood? 

 (A) Adrenal gland (B) Thyroid gland 

 (C) Parathyroid gland (D) Pancreas 
 

7- efgykvksa ds nw/k dk lzko fdl gkeksZu ds dkj.k gksrk gS \ 

 (A) izksySfDVu (B) ,LVªkstu 

 (C) dSfYlVksfuu (D) buesa ls dksbZ ugha 

 Which hormone causes milk secretion in women? 

 (A) Prolactin (B) Estrogen 

 (C) Calcitonin (D) None of these 
 

8- ,d efgyk ds fy, lkekU; xHkZ/kkj.k vof/k D;k gS \ 

 (A) 180 fnu (B) 280 fnu 

 (C) 300 fnu (D) 380 fnu 
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 What is the normal gestation period for a woman - 

 (A) 180 days (B) 280 days 

 (C) 300 days  (D) 380 days 
 

9- izlo ds ckn lzkfor gksus okyk igyk nw/k dgykrk gS & 

 (A) ek¡ dk nw/k (B) ,Utkbe 

 (C) dksyksLVªe (D) gkeksZu 

 The first milk secreted after delivery is called - 

 (A) Mother's milk (B) Enzyme 

 (C) Colostrum (D) Hormone 
 

10-- 'kkjhfjd fodkl dh lcls egRoiw.kZ voLFkk gS & 

 (A) 'kS'kokoLFkk (B) ckY;koLFkk 

 (C) fd'kksjkoLFkk (D) izkS<+koLFkk 

 The most important stage of physical development is - 

 (A) Infancy (B) Childhood 

 (C) Adolescence (D) Adulthood 
 

11- fuEu esa ls dkSu lh chekjh /ofu iznw"k.k ds dkj.k gksrh gS \ 

 (A) e/kqesg (B) mPp jDrpki 

 (C) eysfj;k (D) vLFkek 

 Which of the following diseases is caused by sound pollution? 

 (A) Diabetes (B) High blood pressure 

 (C) Malaria (D) Asthma 
 

12- cPpksa ds fodkl dks D;k izHkkfor djrk gS \ 

 (A) oa'kkuqØe (B) okrkoj.k 

 (C) (A) rFkk (B) nksuksa (D) buesa ls dksbZ ugha  

 What influences the development of children? 

 (A) Inheritance (B) Environment 

 (C) Both (A) and (B) (D) None of these 
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13- euq"; esa xq.klq=ksa dh la[;k fdruh gksrh gS \ 

 (A) 20 (B) 30 

 (C) 46 (D) 56 

 What is the number of chromosomes in humans? 

 (A) 20 (B) 30 

 (C) 46 (D) 56 
 

14- oLrqvksa dks tykus ls dkSu lh xSl mRiUu gksrh gS \ 

 (A) ukbVªkstu (B) veksfu;k 

 (C) dkcZu MkbvkWDlkbM (D) vkWDlhtu 

 Which gas is produced by burning objects? 

 (A) Nitrogen (B) Ammonia 

 (C) Carbon Dioxide (D) Oxygen 
 

15- fuEufyf[kr esa ls dkSu lk lalk/ku lHkh ifjokjksa ds fy, leku gS \ 

 (A) /ku (B) 'kfDr 

 (C) :fp (D) le; 

 Which of the following resources is common to all families? 

 (A) Money (B) Power 

 (C) Interest (D) Time 
 

16- ty ds dhVk.kq'kks/ku ds fy, fdldk iz;ksx djrs gSa \ 

 (A) Dyksfju (B) fQukby 

 (C) dkcZu MkbZvkDlkbM (D) buesa ls lHkh 

 What is used for disinfection of water? 

 (A) Chlorine (B) Phenyl 

 (C) Carbon dioxide (D) All of these 
 

17- fuEufyf[kr esa ls dkSu izkdf̀rd rarq gS \ 

 (A) js'ke (B) Åu 

 (C) lwr (D) buesa ls lHkh 
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 Which of the following is a natural fiber? 

 (A) Silk (B) Wool 

 (C) Cotton (D) All of these 
 

18- ,xekdZ fdu inkFkksZa dh xq.koŸkk vkSj 'kq)rk r; djrk gS \ 

 (A) is; inkFkZ (B) —f"k inkFkZ 

 (C) bysDVªkWfud inkFkZ (D) buesa ls lHkh 

 Agmark determines the quality and purity of which substances? 

 (A) Beverage (B) Agricultural products  

 (C) Electronics materials (D) All of these 
 

19- foVkfeu ^Mh* dk eq[; lzksr D;k gS \ 

 (A) nkysa (B) Qy 

 (C) lw;Z dk izdk'k ¼/kwi½ (D) gjh lfCt;k¡ 

 What is the main source of vitamin 'D'? 

 (A) Pulses (B) Fruits 

 (C) Sunlight (D) Green vegetable 
 

20- fuEufyf[kr esa ls nw/k ds fdl mRikn esa vklkuh ls feykoV ugha dh tk ldrh \ 

 (A) ngh (B) ?kh 

 (C) feBkbZ (D) [kksvk 

 Which of the following milk products cannot be easily adulterated? 

 (A) Curd  (B) Ghee 

 (C) Sweets  (D) Khoya 
 

21- vkgkjh; Qkbcj lgk;rk djrk gS &  

 (A) jDr ifjlapj.k esa  (B) dCt dh jksdFkke esa 

 (C) izfrj{kk òf) esa  (D) buesa ls lHkh  

 Dietary fiber helps in - 

 (A) Blood circulation  (B) Prevention of constipation 

 (C) Increase in immunity  (D) All the above 
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22- ued esa dkSu lk [kfut feyk;k tkrk gS \ 

 (A) ykSg (B) vk;ksMhu 

 (C) dSfY'k;e (D) iksVSf'k;e  

 Which mineral is added to salt? 

 (A) Iron (B) Iodine 

 (C) Calcium (D) Potassium 
 

23- fuEufyf[kr esa ls fdl /kCck dks NqM+kuk lcls dfBu gS \ 

 (A) izkf.kt /kCck (B) okuLifrd /kCck 

 (C) vKkr /kCck (D) fpdukbZ ds /kCcs 

 Which stain is most difficult to remove? 

 (A) Animal stain (B) Vegetable stain 

 (C) Unknown stain (D) Grease stain 
 

24- lksysfuu uked fo"k ik;k tkrk gS & 

 (A) vkyw ds gjs jax esa (B) [kslkjh nky esa 

 (C) lks;kchu esa (D) buesa ls dksbZ ugha 

 A poison called solanine is found in - 

 (A) The green part of the potato (B) Khesari dal 

 (C) Soyabeans (D) None of these 
 

25- dksdwu ls dkSu lk js'kk izkIr gksrk gS \ 

 (A) dkiksd (B) fyusu 

 (C) js'ke (D) Åu 

 Which fiber is obtained from cocoon? 

 (A) Kapok (B) Linen 

 (C) Silk (D) All of these 
 

26- lqtuh d<+kbZ dk dke fdl jkT; ls lEcaf/kr gS \ 

 (A) iatkc (B) xqtjkr 

 (C) fcgkj (D) vksfM'kk 
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 The sujini embroidery work belongs to which state? 

 (A) Punjab (B) Gujarat  

 (C) Bihar (D) Odisha 
 

27- buesa ls dkSu fefJr oL= gSa \ 

 (A) VsjhdkWV (B) VsjhflYd 

 (C) dkWV~lowy (D) buesa ls lHkh 

 Which of these are mixed fabric? 

 A) Terrycot (B) Terry silk 

 (C) Cots wool (D) All of these 
 

28- ikfjokfjd lk/kuksa dk leqfpr mi;ksx dgykrk gS \ 

 (A) /ku izca/ku (B) le; izca/ku 

 (C) vkarfjd lTtk (D) xg̀ izca/ku 

 Proper utilization of family resources is called? 

 (A) Money management (B) Time management 

 (C) Interior decoration (D) Home management 
 

29- fuEufyf[kr esa ls dkSu lk dk;Z lcls vf/kd Fkdk nsus okyk gS \ 

 (A) [kkuk cukuk (B) i<+uk 

 (C) ckr djuk (D) pyuk 

 Which of the following is the most tiring task? 

 (A) Cooking (B) Reading 

 (C) Talking (D) Walking 
 

30- fVªfIlu fdlds ikpu esa enn djrk gS \ 

 (A) olk (B) izksVhu 

 (C) dkcksZgkbMªsV (D) foVkfeu 

 Trypsin helps in digestion of - 

 (A) Fat (B) Protein 

 (C) Carbohydrate (D) Vitamin 
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31- dkSu lk iks"kd rRo ÅtkZ ugha nsrk gS \ 

 (A) dkcksZt (B) izksVhu 

 (C) olk (D) foVkfeu 

 Which nutrient does not give energy? 

 (A) Carbohydrate (B) Protein 

 (C) Fat (D) Vitamin 
 

32- ekaM ¼LVkpZ½ fdu diM+ksa esa yxk;k tkrk gS \ 

 (A) Åuh (B) lwrh 

 (C) flYd (D) Vsjhyhu 

 In which clothes is starch applied? 

 (A) Woolen (B) Cotton 

 (C) Silk (D) Terylene 
 

33- fuEu esa ls dkSu lk dhM+k diM+ksa dks uqdlku igq¡pkrk gS \ 

 (A) [kVey (B) frypÍk 

 (C) efD[k;k¡ (D) flYoj fQ'k 

 Which of the following insects’ damages clothes? 

 (A) Bedbug (B) Cockroach 

 (C) Flies (D) Silver fish 
 

34- buesa ls dkSu lwrh diM+ksa ds /kqykbZ dk vafre pj.k gS \ 

 (A) dyQ yxkuk (B) uhy yxkuk 

 (C) fHkxksuk (D) /kksuk 

 Which of the following is the last stage of washing of cotton clothes? 

 (A) Starching (B) Blueing 

 (C) Soaking (D) Washing 
 

35- buesa ls dkSu izkf.kT; /kCck gS \ 

 (A) nw/k (B) Qwy 

 (C) iŸkh (D) lCth 
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 Which of the following is an animal stain? 

 (A) Milk (B) Flower 

 (C) Leaf (D) Vegetable 
 

36- fljdk gS & 

 (A) {kkjh; inkFkZ (B) vEyh; inkFkZ 

 (C) fpdukbZ vo'kks"kd (D) fpdukbZ foyk;d 

 Vinegar is - 

 (A) Acidic substance (B) Alkaline substance 

 (C) Grease absorbent (D) Grease solvent 
 

37- dhM+ksa dks oL=ksa ls nwj j[kus ds fy, iz;ksx fd;k tkrk gS & 

 (A) lw[kh uhe dh ifŸk;k¡ (B) lekpkj i= dh L;kgh 

 (C) usQFkyhu dh xksyh (D) buesa ls lHkh 

 Which of these are used to keep insects away from clothes? 

 (A) Dry neem leaves (B) Newspaper ink 

 (C) Naphthalene balls (D) All of these 
 

38- lcls ljy flykbZ D;k gS \ 

 (A) jfuax fLVp (B) psu fLVp 

 (C) cSd fLVp (D) ØkWl fLVp  

 What is the simplest stitch? 

 (A) Running stitch (B) Chain stitch 

 (C) Back stitch (D) Cross stitch 
 

39- vkgkj vk;kstu buesa ls fdldh cpr djus esa enn djrh gS \ 

 (A) le; (B) ÅtkZ 

 (C) bZa/ku (D) buesa ls lHkh  

 Meal planning helps in saving of which of these? 

 (A) Time (B) Energy 

 (C) Fuel (D) All of these 
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40- nw/k fuEu esa ls fdldk vPNk lzksr gS \ 

 (A) foVkfeu lh (B) foVkfeu ds 

 (C) dSfY'k;e (D) vk;ju 

 Milk is a good source of which of the following? 

 (A) Vitamin C (B) Vitamin K 

 (C) Calcium (D) Iron 
 

41- fdls vkikrdkyhu gkWeksZu ds  uke ls tkuk tkrk gS \ 

 (A) ,sLVªkstsu (B) ,MªsukykbZu  

 (C) lsjksVksfuu (D) izksySfDVu 

 Which is known as emergency hormone? 

 (A) Estrogen (B) Adrenaline 

 (C) Serotonin (D) Prolactin 
 

42- ,d efgyk esa fdruh vaMokfguh ¼QSyksfi;u V~;wo½ gksrh gS \ 

 (A) nks (B) pkj 

 (C) ik¡p (D) ,d 

 How many fallopian tubes does a woman have? 

 (A) Two (B) Four 

 (C) Five (D) One 
 

43- fuEufyf[kr esa ls dkSu lh vax iz.kkyh iq#"kksa vkSj efgykvksa esa fHkUu gksrh gS \ 

 (A) 'olu ra= (B) iztuu ra= 

 (C) ikpu ra= (D) mRltZu ra= 

 Which of the following organ system is different in men and women? 

 (A) Respiratory system (B) Reproductive system 

 (C) Digestive system (D) Excretory system 
 

44- Hkzw.k dk fodkl fdl eghus ds var esa iwjk gks tkrk gS \ 

 (A) pkSFks (B) NBs 

 (C) lkrosa (D) ukSosa 
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 The development of fetus is completed at the end of which month? 

 (A) Fourth (B) sixth 

 (C) Seventh (D) Ninth 
 

45- fo'o i;kZoj.k fnol dc euk;k tkrk gS \ 

 (A) 8 twu (B) 10 twu 

 (C) 5 twu (D) 6 twu 

 When is World Environment Day celebrated? 

 (A) 8th June (B) 10th June 

 (C) 5th June (D) 6th June 
 

46- /ofu dh rhozrk ekius dh bdkbZ D;k gksrh gS \ 

 (A) fdyksehVj (B) Mslhcy 

 (C) yhVj (D) feuV 

 What is the unit of measurement of sound intensity? 

 (A) Kilometer (B) Decibel 

 (C) Liter (D) Minute 
 

47- fuEufyf[kr esa ls dkSu lw[kk vkink dk dkj.k gS \ 

 (A) ou fouk'k (B) Hkwfexr ty dk nksgu 

 (C) unh ekxksZ esa ifjorZu (D) buesa ls lHkh 

 Which of the following is the cause of drought disaster? 

 (A) Forest destruction (B) Exploition of underground water 

 (C) Change in river routes (D) All of these 
 

48- ok;q iznw"k.k dks de fd;k tk ldrk gS & 

 (A) lkoZtfud ifjogu dk mi;ksx djds (B) vf/kd isM+ yxkdj 

 (C) IykfLVd dh FkSfy;ksa ls ijgst djds (D) buesa ls lHkh 

 Air pollution can be reduced by - 

 (A) Using public transport (B) Planting more trees 

 (C) Avoiding plastic bags (D) All of these 
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49- ,lch,e dk iw.kZ :i D;k gS \ 

 (A) LoPN Hkkjr fe'ku (B) lEiw.kZ Hkkjr fe'ku 

 (C) lQy Hkkjr fe'ku (D) l'kDr Hkkjr fe'ku  

 What is the full from of SBM? 

 (A) Swachh Bharat Mission (B) Sampurn Bharat Mission 

 (C) Successful Bharat Mission (D) Sashakt Bharat Mission 
 

50- izR;sd O;fDr ds fy, dkSu lk vkgkj vko';d gksrk gS \ 

 (A) izksVhu ;qDr vkgkj (B) olk ;qDr vkgkj 

 (C) larqfyr vkgkj (D) buesa ls dksbZ ugha 

 Which diet is necessary for every person? 

 (A) Protein rich diet (B) Fat rich diet 

 (C) Balanced diet (D) None of these 
 

51- [kslkjh nky ds vf/kd lsou ls gksrk gS & 

 (A) 'olu jksx (B) ân; jksx 

 (C) ysFkkbfjTe (D) nLr 

 Excessive consumption of Khesri dal causes - 

 (A) Respiratory disease (B) Heart disease 

 (C) Lathyrism (D) Diarrhea 
 

52- fuEu esa ls dkSu] Hkkstu [kjkc gksus dk dkj.k gksrk gS \ 

 (A) lw{e tho (B) gok 

 (C) rkieku (D) buesa ls lHkh 

 Which of the following causes food spoilage? 

 (A) Microorganism (B) Air 

 (C) Temperature (D) All of these 
 

53- lq[kkdj [kk| inkFkZ dks lajf{kr djus dh fof/k dks D;k dgrs gSa \ 

 (A) [kehjhdj.k (B) iz'khru 

 (C) futZyhdj.k (D) buesa ls dksbZ ugha 
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 What is the method of preserving food items by drying called? 

 (A) Fermentation (B) Refrigeration 

 (C) Dehydration (D) None of these 
 

54- Hkkstu dks Nwus ls iwoZ vkSj i'pkr~ gkFk /kksus pkfg,& 

 (A) feÍh ls  (B) lkcqu ls 

 (C) dsoy ikuh ls  (D) buesa ls dksbZ Hkh 

 Hands should be washed before and after touching food with - 

 (A) Soil  (B) Soap 

 (C) Only water  (D) Any one of these 
 

55- fuEufyf[kr esa ls dkSu vkgkjh; feykoV dh jksdFkke esa enn dj ldrk gS \ 

 (A) vke vkneh (B) [kk| fujh{kd 

 (C) [kk| vifeJ.k fuokj.k vf/kfu;e (D) bues als lHkh 

 Which of the following can help in prevention of food adulteration? 

 (A) Common man (B) Food Inspector 

 (C) Food Adulteration Prevention Act (D) All of these 
 

56- xHkkZoLFkk ds nkSjku D;k fjdkMZ fd;k tkuk pkfg, \ 

 (A) ukM+h dh xfr (B) jDrpki  

 (C) 'okl xfr (D) buesa ls lHkh 

 What should be recorded during pregnancy? 

 (A) Pulse rate (B) Blood pressure 

 (C) Breathing rate (D) All of these 
 

57- tUe ds rqjar ckn cPps dk jksuk buesa ls fdldk egRoiw.kZ lwpd gS \ 

 (A) vLoLFk gksus dk (B) LoLFk gksus dk 

 (C) mnklhu gksus dk (D) buesa ls dksbZ ugha 

A baby's cry immediately after birth is a significant indicator of which of these? 

 (A) Of being unwell  (B) To be healthy 

 (C) To be indifferent (D) None of these 
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58- buesa ls vLirky esa izlo djkus dk D;k ykHk gS \ 

 (A) fo'ks"k fpfdRld dh ns[kjs[k esa izlo (B) izlo ds ckn fujarj lgk;rk 

 (C) vkikrdkyhu ns[kHkky (D) buesa ls lHkh 

 Which of these are the benefits of hospital delivery? 

 (A) Delivery under specialized doctor (B) Continued support after delivery 

 (C) Emergency care (D) All of these 
 

59- lk/ku gksrs gSa & 

 (A) lkoZtfud (B) vlhfer 

 (C) lhfer (D) vuqi;ksxh 

 Resources are - 

 (A) Public (B) Unlimited 

 (C) Limited (D) Useless 
 

60- x`g lTtk esa iz;ksx gksus okys fMtkbu fdrus izdkj ds gksrs gSa \ 

 (A) nks (B) rhu 

 (C) pkj (D) ik¡p 

 How many types of designs are used in home decoration? 

 (A) Two (B) Three 

 (C) Four (D) Five 
 

61- x`g lTtk dk fl)kUr gS & 

 (A) dk;kZRedrk (B) lkSUn;Z 

 (C) vfHkO;atdrk (D) buesa ls lHkh 

 The principle of home decoration is - 

 (A) Functionality (B) Beauty 

 (C) Expressiveness (D) All of these 
 

62- ^dyk* fdl vfHkO;fDr dk lqUnj ek/;e gS \ 

 (A) iSlk (B) lkeF;Z 

 (C) euq"; dh Hkkoukvksa (D) buesa ls lHkh 
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 Art is a beautiful medium of which expression? 

 (A) Money (B) Power 

 (C) Human emotions (D) All of these 
 

63- fuEufyf[kr esa ls dkSu B.Mk jax gS \ 

 (A) uhyk (B) gjk 

 (C) cSaxuh (D) buesa ls lHkh 

 Which of the following is a cool colour? 

 (A) Blue (B) Green 

 (C) Purple (D) All of these 
 

64- fuEu esa ls dkSu thou chek fuxe dk ykHk gS \ 

 (A) tksf[ke dojst (B) vk;dj ls NwV 

 (C) _.k lqfo/kk (D) buesa ls lHkh 

 Which of the following is the benefit of Life Insurance Corporation?  

 (A) Risk coverage (B) Exemption from income tax 

 (C) Loan facility (D) All of these 
 

65- fuEufyf[kr esa ls dkSu lk dk;Z uSfrdrk ugha gS \ 

 (A) lg;ksx (B) vuq'kklu 

 (C) mRikndrk (D) izfrLi)kZ 

 Which of the following is not a work ethics? 

 (A) Cooperation (B) Discipline 

 (C) Productivity (D) Competition 
 

66- Åuh diM+s fdl js'ks ls curs gSa \ 

 (A) dikl ls (B) i'kqvksa ds cky ls 

 (C) dksdwu ls izkIr js'ks ls (D) rus ls izkIr js'ks ls 

 Woolen clothes are made from which fibers? 

 (A) Cotton (B) Animals hair 

 (C) Fiber obtained from cocoon (D) Fiber obtained from stem 
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67- buesa ls jsMhesM oL=ksa esa xq.koŸkk dk fpUg dkSu lk gS \ 

 (A) flykbZ (B) cU/kd 

 (C) vLrj (D) buesa ls lHkh 

 Which of these is the mark of quality in readymade garments? 

 (A) Stitching (B) Fastners 

 (C) Linings (D) All of these 
 

68- fuEu esa ls fdlds }kjk gYnh esa feykoV dh tkap dh tk ldrh gS \  

 (A) gkbMªksDyksfjd vEy  (B) vk;ksMhu 

 (C) ukbfVªd vEy (D) buesa ls dksbZ ugha 

 By which of the following adulteration in turmeric can be checked? 

 (A) Hydrochloric acid (B) Iodine 

 (C) Nitric acid (D) None of these 
 

69- jDr ds FkDds teus esa dkSu lk foVkfeu lgk;d gksrk gS \ 

 (A) foVkfeu ^lh*  (B) foVkfeu ^,*  

 (C) foVkfeu ^ds* (D) foVkfeu ^Mh* 

 Which vitamin helps in blood clotting? 

 (A) Vitamin 'C' (B) Vitamin 'A' 

 (C) Vitamin 'K' (D) Vitamin 'D' 
 

70- ,d O;fDr dh nSfud dSyksjh dh vko';drk,¡ fdl ij fuHkZj djrh gSa \ 

 (A) out (B) xfrfof/k Lrj 

 (C) vk;q (D) buesa ls lHkh 

 A person's daily calorie requirement depends on - 

 (A) Weight (B) Activity level 

 (C) Age (D) All of these 
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[k.M & c@Section-B 

y?kq mÙkjh; iz'u@Short answer type questions 

iz'u la[;k 1 ls 20 y?kq mÙkjh; gSaA fdUgha 10 iz'uksa ds mÙkj nsaA izR;sd ds fy, 2 vad 

fu/kkZfjr gSaA vius izR;sd mŸkj yxHkx 40&50 'kCnksa esa nsaA  (10x2=20) 

Question Nos.1 to 20 are short answer type Questions. Answer any 10 questions. Each question 

carries 2 marks. Answer your questions in about 40 to 50 works each. (10 x 2 = 20) 

 

fuEufyf[kr ij laf{kIr fVIi.kh fyf[k;s % 

 

1- Fkk;jkWbM xzfUFk 2 

 Thyroid Gland  
 

2- gkeksZUl 2 

 Harmones 
 

3- ok;q iznw"k.k 2 

 Air pollution 
 

4- dBksj ty 2 

 Hard water 
 

5- [kk| laj{k.k 2 

 Food preservation 
 

6- izkd`frd rarq 2 

 Natural fiber 
 

7- vkgkj vk;kstu 2 

 Meal planning 

8- flys&flyk;s ¼jsMhesM½ oL= 2 
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 Readymade garments 
 

9- MhŒ ihŒ VhŒ 2 

 DPT 
 

10- cU/;rk 2 

 Infertility 
 

11- ekuoh; lk/ku 2 

 Human resources 
 

12- x`g lTtk 2 

 Home decoration 
 

13- dyk ds rRo 2 

 Elements of art 
 

14- jax ;kstuk 2 

 Color scheme 
 

15- Hkkjrh; thou chek fuxe 2 

 Life insurance corporation of India 
 

16- voljksfpr ifj/kku 2 

 Occasional dresses 
 

17- lkcqu 2 

 Soap 
 

18- okf'kax e'khu 2 

 Washing machine 
 

19- psd ds izdkj 2 

 Types of cheque 
 

20- var% lzkoh xzafFk;ka 2 
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 Endocrine glands 

nh?kZ mÙkjh; iz'u 

Long Answer Type Question 

iz'u la[;k 21 ls 26 nh?kZ mÙkjh; iz'u gSaA bl dksfV ds izR;sd iz'u ds fy, 5 vad 

fu/kkZfjr gSaA fdUgha 3 iz'uksa ds mÙkj nsaA vius izR;sd iz'uksa ds mÙkj yxHkx 80 ls 100 

'kCnksa esa nsaaA (3x5=15) 

Question Nos. 21 to 26 are long Answer Type. Each question carries 5 marks. Answer any 3 

questions. Answer your questions in about 80 to 100 words each. (3x5=15) 

21- ty iznw"k.k D;k gS \ blds dkj.k rFkk jksdFkke ds mik;ksa dk fooj.k nhft;sA  5 

 What is water pollution? Explain its causes and prevention. 
  

22- eknk iztuu iz.kkyh ds dk;ksZa dh O;k[;k djsaA 5  

 What is the function of female reproductive system? 
 

23- ikfjokfjd lk/kuksa dk oxhZdj.k izLrqr dhft,A 5 

 Describe the classification of family resources. 
 

24-  lfnZ;ksa ds diM+ksa dk laxzg.k djrs le; fdu ckrksa dk /;ku j[kuk pkfg, \ 5 

 What things should be kept in mind while storing winter clothes? 
 

25- fcgkj ds fdlh ,d lqbZ f'kYi ¼d<+kbZ dyk½ ds fo"k; esa fy[ksaA 5 

 Write about any one needle craft of Bihar. 
 

26- Hkkstu cukrs] ijkslrs vkSj [kkrs le; fdu fu;eksa dk ikyu djuk pkfg, \ 5 

 What rules should be followed while cooking, serving and eating food? 


